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Time : 3Hrs. Sem - III/Mech Engg
Elec. Engg.
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & wift ufg gl & SR <, UAS U BT A6 b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

11.

faft=1 g=al & affga &3 | fafr= gzar
3 forg Aler &1 g9 fod aRal w R
BT 2 |

Discuss the construction and working principle of
a stepper motor. 6

TP FWLUR HIex Pl g41de a2l »rd Rigid
@ fad==r s |

OR(37214T)

What do you mean by a servomotor. Describe the
working principle and construction of an A.C.
Servomotor.

Jafdiex 9 3Ny 1 99sd 21 U U
Iaidiex ®) §-1de Ud o1 Rigra &1
qufq a |

What are the methods used for the improvement
of power factor. Explain.

wfdd o fdafia &34 & foav ygaa
faftrat dia—aia €| avfa a3 |
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(i)

(iii)

(iii)

(iv)
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=1 ¥ 3 $I9 91 uraR wWile $9 9rd
IR B bl 2 |

(31) =rgI

() wra

(|) gfFerax

(]) W19 exarEH

Which of the following instrument can not
be employed for D.C.

(a) Moving lorn

(b) Electrostatic

(c) Induction type

(d) Hot Wire

=1 SuaRenl ¥ 9 fea &1 gahT S
@ A9 § Ugad el fHar o1 "adr 87
(31) HfawT smaRE

@) faga wfd®

() 40T UBR @

() i ar

The commutator of a D.C. motor serves the
purpose of

(a) Changing A.C. to D.C.

(b) Converting D.C. into A.C.

(¢) Induction friction

(d) Avoiding arc at the brushers

P.T.O
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GROUP -C :
(vi)

Answer all Five Questions.

9l uig g3 & SN < |

7. Explain the working of a moving iron instrument.

6x5=30

What are the major differences between attraction
and repulsion type of moving iron meters.
6 (vii)
Ueh AT AR I3 Y fhar yormell &1
AT B | ATHYT qAT AT yHR &

faT smarer Hied @ v gE sax @ ¢

OR(3721dT) (vii)

Give the basic principle of working of an
electrostatic voltmeter. Explain how would
you increase the voltage range of the voltmeter.

s faga wifas diecedier @1 fbar yomell @
Hord fagial &1 fod | dieedier @ dieew (viii)
faaR & v HA qGTYA |

8. Explain the torque speed curves of a 3-phase
induction motor. On what factors the shape of
there curves depend. 6

5 1625305

Ruf¥eq grar &) g1 2|
(a1) vA

(9) Watt

(|) VAR

() Ohm

For a D.C. voltage an inductor is
(a) Virtually a short circuit

(b) Is open circuit

(c) Depends on polarity

(d) Depends on voltage value

S diees @ forv e e = @)
RE AdER BT 2 |

(@) e vu 4§ ya g uRuYy $ a¥E
(@) gar uRuer 3 v

(@) gaar wr R sar 2

(]) dices & 9 W R Fvar 2 |

The e.m.f induced in a conductor rotating
in a bipolar field is.

(a) D.C.

(b) A.C.

(¢) D.C. and A.C. both

(d) None of these

P.T.O
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4.

What are the difference between moving coil and

moving iron instruments.

HAT Fare gd qfaT ImRa I3 & 9=
I T BN |

OR (3121a1)

Why an ammeter should be of very low resistance

and a voltmeter should be of very high resistance.

U JreX &l 9gd bd YfaRle &1 de1 (b
JiccHier &I 9gd 31f¥a ufkRig &1 @&l <@r
ST 27

Derive the equation for the e.m.f. induced in both

the windings of a transformer. Define regulation.

4
IR & Sl Grsdl 4 URT S TITH. &

fore afte=or ytd &Y | e B aRerfya
B |
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gRunfia & auged uRuy § &R @1fa
&1 feaw y<Rfa fear sar 2

(3) =ioft ufexier &

(@) wic ufoxig @

(W) wic 9T &

(%) aoft d=or 9

The speed of an induction motor depends on -
(a) Number of stator poles

(b) Stator supply frequency

(¢) Input voltage of to stator

(d) All of the above

X7 Hiex &) ara R et 27
(@) Y H gal @ 9= )
(@) ¥ex o anyfed smgfa w

(W) ¥eX @ gYc dlecd W)
(%) SwWiaa g+

Integrating meters are used for the
measurement of

(a) Voltage

(b) Current

(c) Energy
(d) Phase

P.T.O
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(xx)  The transformer used in a welding set is
(a) Step-up transformer
(b) Step down transformer
(c) Booster transformer
(d) Constant current transformer

xx) dfesT de ¥ gaga uRenfaa 2, e
(31) YU U gTEBEHR
(d) VU S8 CIaBrIR
(|) ¥R THHrER
(]) Irgel ORT STEHBIHR

GROUPB

Answer all Five Questions.

gl ufg gl & SR < |

4x5=20

2. Distinguish between feeded, distributor and
service mains. 4

NT3031

(xiv)

(xv)

(xv)

(xvi)
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o1 R @ o9 Aex &1 Fa T
SUYFd el 2 |

(31) S wie #Aiew

(@) 1A Aof AR

(4) =1 Aiex

(]) Toaaifera HieR

The minimum number of windings required
for producing a poly phase field is

(a) One

(b) Two

(c) Three

(d) None of these

IEHAl 89 Bl IU HA b ferg
JAATAF FISAl I ~IAdH G&AT 2 |
(e1) &

(@) &1

() <=

(@) s @ H1F TH

The speed of a squirrel cage induction motor
can not be controlled by.

(a) Pole changing

(b) Frequency control

(c) Rotor resistance control

(d) Line voltage control

P.T.O
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